£3 27

0e %
=)

mlm

O xs=20/F3noltt = 2<x<3
@ xe=-1zx15050 = -1<x<5
@ xe10gtoxdoltt= 0<x<1
@)xEo0orgamzolt 5 0<r<a
® xE-3zxd4udtoltt = -3<x<4




2.

(_1)2011 X (_1)2012 % 12011 _‘%_ 74]/‘\_]--5]_\3‘7

D 2012 @ -2012

@—1 ® 2

(_1)2011 % (_1)2012 % 12011
=-1x1x1=-1




® ax(c+b)




4. o2 IHAH F M, N2 ZtZF AB \MB 2] $30o|tt. AN & MB
o] = HjQl7}?

A M N B
1 2 3 4 3
D3 @ 3 ® 4 ® 3 )3




A M AB 4 Zﬁom N & AM ¢] Z4o|t}. AB = 24cm ¥

@ 3cm

_---24cm---_
A N M B
@ 4cm @6cm @ 8cm ® 12cm
1-— 1 —

s



& 28elA A C oF ADAtole] 2l & Fafodat,

B

A C oA AD o W=l 449 22 H 2} s CH
oltt.




the Ze Aol Tt ok Ay F S ALY
A D
|
B i ¢
|
|
|
By - JH
F G

®© ©® ©

214 AB o 214 GH & gt Hof| 4] vhdtt,
A4 AB ¢ A4 CG = B 3Ps}et.
24 BC o A4 CG & 72 $x]of| At

@44 AB ot 44 cG &

rr
o
O%'(,

ot
oL
o

® 24 BC o 24 AE & 3 Aol 4 ghiit,

B

@O A4 AB ¢ A4 GH

o

@ A4 AB & A4 CG £ Z A9l Slct.
® 24 BC 2 A4 CG & g HoflA] whdtt,
® AA BC 9 A4 AE &= 73l 9]A] 9] Qi




g 7o) 447
71

1715l A AD 9k 2221 91A]¢fl Sl

A C
O
D F
O
E

@ 17 @2711 ® 37 @ 470

® 571

BC, EF £ 271




toizt.

<]

Aoiglo] 2480k 2L A5 A4E 7

9.

54

ul
KO

Aggto] 2.4 5k e A4 0,1,-1,2,-2 o] B2 570},




Agigro] e F A4 Atolo] A7t 10 A wf, o] F 4= F-& F5t
SES

» E

> =g -25

ddigte]l o8 F a5 A 22 A A F
5o A7t 10 o] B2 AN F 749 A 247t 5
oty o] F AL FEa, EFE b, b= -aoBR




_go]/ggo]—a}cﬂz F-1,0,1,2,30| 22 57|},




-l<a<0 < o5 F7H 2 5=

1 1 1 1
a




13. o IeA 712, AR, diZbde] gl £50] fo] BE TR
7@, ©.6, ® @ &E2 59| &2 Fatelz;,

@O 3
© e O
-3 4 |-1
> E:
> "g: -3

~&B

-3+4-1=07I=2, A2, it = Al 5] =20 |t
3+@-1=0,0 = -2,

3+®+(-3)=0,© =0,

®e+@®+@=0,

©®+0-2=0,6=2,

9+©-3=0,0+2-3=0,
9D=1,0+0+3=0,1+0+3=0,0=-4
LO@:1,0:-4, ©®:2, ©:0, @: -2







A Al &

&

4 719l

15.

tolet.

5|

+14

14 B+




16. FAH91E €A 71 Ze 571 e A7) ®
ofol~a% & A7 2 stk FALgle] A7) '
St O3 g, ofolzage AA R | D
A7 #7917 Fofet,

ZAIE BAM L A

AW O, |89:0
F0:0Q, Ad:@
280, HE:©

(-1)*=1,-22= 40|82 7} 32 o|th.

T SAHE 32 = -9, 13 = -1, (-3)> = 9, 23 = 8,
AFO. —
wreta] @O] 12 Z|glo] 7} ofo] A3 | | et

AL
T
o
=

AHA




a+3+(-2)=-4°|B& g =24 0|t}
(-18) +b+3=10°]|2& p = —6 T},
a+b=24+(-6)=-4




18. o= T} %
e 74]’3'214- Jol| A ( Joto] Ere 2=
—4 [{~42 + (-2) x 5} + 4] W e AR Aol
=40-[{-42+ (@)} +4

=40-[(©) +4]
=40-(©)
=(®)

CF*
H -

[ ==l
H -

iy

L

- @-10
- ©-26
- ©-22
- @62

0
it

0
i

vV V V V

\4

N vwvyy
iy

0
o

~&B

0= {42+ (-2) x5} +4]
=40 - [{-42 + (-10)} + 4]
= 40 — [(-26) + 4]

— 40 - (-22)

= 62




19.

YRS o] g5te] thae Aststele)

6.23 X 7+6.23%x3

iy

\VARR 4
0
i

62.3

(4= 6.23 x (7 + 3) = 6.23 x 10 = 62.3




o] = 3irt.

1
3

149 e LE

9|

20. oJ"@ Fa —Z S Aok ot

shelat.

:rL

O
=

o uf, vt=A| At gk

S
—

Ht=A A4t g




21. o2 O™>A gy - 2x 9] 22

o

Yy+10

45°

® 50° @ 60° @ 70° @80° ® 90°

B

y+10° = 90° + 45° = 135°
y = 125°

x = 90° — 45° = 45°

SoLy — Lx = 125° — 45° = 80°




22. thg 2ol A 2 Wl 91 Al 50 Fol G40 o B ), 4 9] g

U x4 (-5)+4=x-1=0 . x=1
AN x+74+y=1+7+y=8+y=0 . y=-8
LEZH  y+A+4=(-8)+A+4=A-4=0 .. A=4




> =
23 . 23
> =g +27E:—t‘27
11 33
=55 °="®s
a—b 7F HHUG M S 7HA 2 a 7} g0l AL, b 7F w0l ofoF
gt
1 3 1 3
X A7FS 4 = Z p = -2 & :_—<——>:
e gk a = b = -2 AW, M = ¢ 3
8 15 23
— __ —_—_—_0
0w w0

a-b 7t D43k m & AN B a 7} G501, b 7} Fro]ofo}
’8]—14—

3 1 3 8

u:]-gl-/x &7y e , — _ __o _ - _2__° _
S bsq’m58 40

15 23

- —___ 0

0= 10

23 (23)_@_@
- 40/ 40 20




24.

oS A x Y A7=

@® 20° @ 30°

20°
\\_} l
50°
"y
30 m
® 35° @ 40°

@ 60°

o Zx = 30° 4 30° = 60°




25. o 73} Zo] HAZEY ABCD € ol
A H P o &=t (EFB ¢ /EFC
7 B A7t of, A 2] EF 9 JH P 9
AATAE?

@4 @ B3
® 97 @ % Hol A vt
® =3dd




